Chapter 5: Circular Motion
College Physics

Chapter 5

Circular Motion

Problems


1.
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13.
The angular speed of the Earth is 
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23.
Let the x-axis point toward the center of curvature and the y-axis point upward. Use Newton’s second law.
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Solve for N in the first equation and substitute into the second.
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(b)
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31.
Use Newton’s second law and law of universal gravitation.
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Now, 
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41.
(a)
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(b)
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(c)
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57.
Distance 
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 so the larger the radius the greater the time to complete the U-turn. The 
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 possible radius should be used.
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